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" The order of matrix i"j is: -9.,,:‘/({2},)5'
a) 3-by-1 b) 1-bys3 a) 3-by-1 b) 1-by-3
c) 2-by-2 d) 3=5by-3 c) 2-by-2 d) 3-by-3
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® A= [i zfand T S Erealz|AlJA = [C d]ﬁ
a) ab-cd b) ac-bd a) ab-cd b) ac-bd
c) bc-ad d) ad - bc c) bc-ad d) ad - bc

" Arthur Cayley introduced the "Theory of JJLVJJ:*"’JU}JEU" ----------------------- Lg AT
Matrices" in d]/f
a) 1854 b) 1856 a) 1854 b) 1856
c) 1858 d) 1860 c) 1858 d) 1860

8 Product Of[] 2] [4] IS ceeererreensrnnssronaas :%V/B‘j‘bgh 2] [_i]
a) [3] b) [13] a) [3] b) [13]
c) [-3] d) [-13] c) [-3] d) [-13]
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